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Layer_0 and Layer_1 Simulation for Schrieber-
SABRE
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Layer_2 and Layer_3 Simulation for Schrieber-
SABRE
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CuLayer_2: 4798.91 + 396.09

events per year.
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events per year.




Events per yr/bin

Layer_4 Simulation for Schrieber-SABRE

EnergyDep Histogram
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il Layer Old (event per year) New (event per
No ear

Layer 0 239090.09 * 72694 .86 =
14923.54 1940.51

Layer_1 10622.82 * 1237.0 15771.71 ¢
794.61

Layer_2  3152.17 + 219.92 4798.91 + 396.09

Layer 3 1345.34 + 137.93 1987.18 + 219.24

| . Layer 4 1966.69 + 1413.88 1184.42 + 266.23
0 100 200 300 400 500 Comparison between previous & new
Energy (keV) . .
simulation

CuLayer_4: 1184.42 + 266.23
events per year.

‘U238 ; 423 .24 +
244  36events per year. 4
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Layer_0 and Layer_1 Simulation for OPERA
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Events per yr/bin

Layer_2 and Layer_3 Simulation for OPERA
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Events per yr/bin

Layer_4 Simulation for OPERA
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CuLayer_4: 967.16 + 165.02 events per year.

‘Bi207' . 407.65 t 135.88 events per year.
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Layer 0  17¢62882.60 =
833814.012

n o

1377564 .09 =
231539.81

149202 .82 +
/75482 .00
4711.33 + 344.22

2277.51 + 243.86

967.16 + 165.02

previous & new



Comparison between Schrieber and Opera for all layers

individuall
Layer | SCHRIEBER (event per | OPERA (event per Comments
\[o) year) year)
Layer_0 ~ (72 £ 2)k ~(13.7 + 0.2)M The Opera rate is too high
(U238 28k + 1.7Kk) Pb210: (13.0 + 0.2)M therefore Shrieber is
recommended for Layer_0
Layer_1 ~(15.7 + 0.8)k ~149k + 75k The Opera rate is high therefore
- U238: (4 + 0.6)k Pb210: (13 + 7)k Shrieber is recommended for
Layer_T1

Layer_2 4798.91 + 396.09 4711.33 + 344.22 Both are in the same range

Co58: (1000 + 155) Bi207: (1977 + 282) so both are recommended
Layer_3 1987.18 + 219.24 2277.51 £ 243.86 Both are almost in the
Th232: (429 + 71) Bi207: (941 + 200) same range so both are

recommended

Layer_4 1184.42 + 266.23 967.16 + 165.02 Both are almost in the

U238: (423 + 244) Bi207: (407 + 135) same range so both are
recommended
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Layer_0 plus Layer_1 combined Simulation of SCHRIEBER
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CuLayer_0_1: 88466.58 + 2096.91
events per year.

‘U238"' . 28773.93 + 1787.92
events per year.

Here it is worth noticing that the
combined simulated events are the
simple sum of both the layers 0
and 1 done individually.

i.e

CuLayer_0: 72694.86 + 1940.51
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CuLayer_1: 15771.71 = 794.61

CuLayer_0_1: 88466.58 + 2096.91
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Events per yr/bin

S_S_S(Layer_0_1 2 Combined Simulation of
SCHRIEBER)
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Here it is worth noticing that the
combined simulated events are the
simple sum of all the layers 0, 1
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Events per yr/bin
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S.S.S 93265 + 2133 U238: 28773 ¢
1787

S SO 93177 + 2124 U238: 28773 +

177



Events per yr/bin

n

O

S O

~ EnergyDep Histogram 104

S S 0O.S

EnergyDep Histogram

| |
[0 Histogram
} Error Bars |

| I
[ Histogram
}  Error Bars

103

100

200

)
=
(%)

Events per yr/bin

)
=
T

100 |

|

300 400 500 600 700 0 100 200 300 400 500 600 700
Energy (keV) Energy (keV)

Combinati | Events per year with | Dominant Isotope

on uncertainty

$S 00 95455.43 + 2138.92 U238: 28773 =
1787

C <SS O S OG165 0O + 713A 7§ lI22AR I2R77 +

12




S_S_O_S_O EnergyDep Histogram S—S—O— — EnergyDep Histogram — EnergyDep Histogram

5.5.0.0.5S

104 T T 104 T T T I
[ Histogram [ Histogram | l > [ Histogram
¢ Error Bars ¢ Error Bars 10% 4 F b21 }  Error Bars |
103 103
10°
=
c c £
8 S =
£ 102 £ 102 >
— — w 102 |
g 2 o
£ 2 g
g Co60 ] &
(1] 101 (i) 101 101
R l Co56
N
10D 10D Iﬁ 1DD “ <
LT
I 0 100 200 300 400 500 600 700
0 100 200 300 400 500 600 700 0 100 200 300 400 500 600 700 Energy (keV)
Erarmw {lram

Energy (keV)

S_S_O_O_O EnergyDep Histogram

il | T E:i?irfr? | Combinatio | Events per year with | Dominant Isotope
: T g
_h SS0OSO 96132.25+2142.6 U238: 28773 ¢
1787
: SSOSS  96349.5+2152.7 U238: 28773 ¢
1787
SS OO0 96422.5+21452 U238: 28773 +
1787
TN e T SSOO0OS 96639.86+2155.4 U238: 28773 +

1 " N ™



	INTERNAL BACKGROUND ANALYSIS
	Layer_0 and Layer_1 Simulation for Schrieber-SABRE
	Layer_2 and Layer_3 Simulation for Schrieber-SABRE
	Layer_4 Simulation for Schrieber-SABRE
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13

